Seat No.: Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - SUMMER 2016

Subject Code: 351905 Date: 23-05-2016
Subject Name: Estimating, Costing And Contracting
Time:2:30PM TO 5:00PM

Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)

Q.1 (@) State Need, Scope and importance of Contracting in industries.
Y. 3 Grelolui slatslotell ar3dlald, std@ololl callu Aol Heel sl

(b) List and explain different elements of cost.

ol well el el Uasl Avll Wal AMestal.

Q.2 (@) List difference between costing and estimating. State need of costing.

s, A 5301 Aal WAL A dglalcd Avl. 5ldlotedl %33lauld sRual.

(b) Three operators are engaged on a lathe to make 180 jobs in two days. Wage of
one operator is Rs. 300 per day. Weight of each job is 1 kg and raw material
cost is Rs. 40 per kg. Direct overhead is Rs. 2000 per day. All other overheads
are equal to prime cost. Find out the production cost per job.

ol As AU GU A [RauHl 180 Aol olotlclall HIZ 2Rl BlUR2R At B.
As (¢ adoll s vluRea{l Uyl 3. 300 B. As Aol cool 1 (SARUH
8 wal A R (BHd 3. 40 YA BARaH B. siRse WM dARW$S 3.
2000 y(d Rad B. oflost ol 3@ WeH WA Fedl 8. Gaulest

Wl yld et .

OR
(b) Atablet producing company is daily producing 120 tablets. Direct material cost
is Rs. 180000 and direct labour cost is Rs 120000. Factory overheads are 40%
of direct labour cost. Administrative overheads are 20% of factory cost. Sales
and distribution overheads is 30% of production cost. If the profit per tablet is
Rs. 300, than Find the selling price of one tablet.
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Q.3

U4

Q.3
ust.

(@)

(b)

2u@e Gaulest sl As Susll €RAy 120 2ulAle Geulest 52 .
yerel Hllac Wl 3.180000 wal Ycuet 13l W3l 3. 120000 8. ¥523|
WS Ycudt HRl Wl 40% 8. AsMolldla vaes %523l
Vel 20% B, A Wal [3loY2let M cARES Geulest Wall 30% B. A
As 201A2 €16 3. 300 oll o8l Al s, Al As ezl Al (Bt
ledl.

Define depreciation. Explain types of depreciation in detail.
dARAe{l catvaul WL dARUell YsLA Gslel Yds Aol

Two flat plates each of 200 cm long, 10 cm wide, 1 cm thick are joined in such
a way that a plate of approximate size of 200 cmx20 cmx1 cm size is produced.
Neglecting edge preparation cost, estimate the total material cost of welding.
Assume (1) cost of O.= Rs 1.2/ m3. (2) Cost of CoH2= Rs 6/m°.

(3) Cost of filler material=Rs 3/kg.  (4) Consumption of O2=1 m3/hr.

(5) consumption of C2H2=1 m/hr. (6) filler rod diameter=5mm. (7) length of
filler rod required=4.5m/m weld  (8) density of filler rod=9 gm/C.C. and

(9) welding speed is 2 m/hr.

200 AHL. oty 10 AHL udlous 1 AHL. ssisell A Az A H\ée
531 dvelwd 200 AHL x 20 A x 1 A Wl As A2
Glollaleltil A 8. Ay QuRet WA Wl Acslalell sd Hellac
] 20Ul YRl 5 (1) Ozl WA =Rs 1.2/ m3. (2) CoHa ol WL = Rs 6/mP.
3) slcr Hel3lactoll Wl =Rs 3/kg.  (4) Oz oll AUR(2L =1 m¥/hr.

(5) CaH2 oll AUl =1 m3/fhr. (6) $lAR Asell caAu™ =5mm.

(@) $lAR Asell 33| codlss =4.5 m/m weld

(8) SlcAR Asell otcll =9 gm/C.C. wal (9) Aesolell Uls 2 m/hr B.
OR
List elements of cost in Gas welding. State factors effecting Gas welding cost.

A AEell WAell ©esl AWl AU AL WRlal MARSAL URol

oIl

A square bar of 4cm side and 40 cm length is to be converted by hand forging
into bar of hexagonal cross section having each side equal to 3 cm. calculate
the length of hexagonal bar produced. Consider 6% scale loss of total volume.
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4 AL wss val 40 A clousetl AU Aollaue s s1%ToL a3
AHL ol As vl wessell sl Aollaunl 3uldR sauHl wa 8.
e slel Aollatell doud MU, WA AU 5A Uststoll 6% B.

Define pattern. List and explain different pattern allowance.
Qeolo(l caAvaul WL, Yel-gel 2ol WAIGoU AVl W AH LA

A 20 cm x 6 cm C.1. surface is to be faced on a milling machine with a cutter
having 8 cm diameter and 12 teeth. If the cutting speed and feed are 40 m/min
and 4 cm/min respectively, determine the milling time, R.P.M. of cutter and
feed per tooth. Assume over run is 0.70 cm.

8 Al call wal 12 dla wRiadl s2R il As HLlcllor 1alld GuR 20
AHL x 6 Al ol size el AFAe Follol sRaul ua B. 8l sélol
Wls ua gls waisA 40 m/min Al 4 cm/min Sl Al HlcAlat asy,

52201l R.P.M. el 4ls yld &t 20ell. AR 26t 0.70 cm HlRl.

OR
Define forging. Explain different types of forging losses.

sloflololl carvail L. ael-ael sloflol e UMl

The fixed cost of a company is Rs. 150000. Its selling price is Rs.40 per unit.
If material cost is Rs. 10/units and other variable cost is Rs. 20/units, then find
out break-even point. Company has production capacity of 20000 units. If
company produces at 80% of its capacity, than find profit of company.

As $Uolloll Slsat 5122 3. 150000 B. Aoll Wsseoll dual (Sud 3. 40
YA yolle 8. ¥ H3l3lact WA 3 10 Yl Yolle ual ollet AlAnict
slke 3. 20 Ul Yolle &l A Qs et WS A, SUslloll Geuleat
AL 20000 Yolleoll B. 2 Suell Asll Geulest Aol 80% Geulest
52 l $Uolloll o5l 2.

Define Break Even Point. Derive an equation for BEP analytically.

As gclol W2 (BEP)o(l cavall wWl. Aetlcdldlset el ds gast
W82 (BEP)o] Yot 20l

List modern tools and techniques of cost reduction.

W] delscllotl YEs AUl W dRSlell U
OR
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Define Budget and Budgetary control. State purpose of budget.
wgeoll Ual wB2I s2coll calvall AU, olseall Sl Rl

Explain documents required for engineering contract.

gyl Sloplse HI2 %33 Excllaesl AHsLAl
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